3 3

L{sin3t e} = - = —
(s+12+9 §+2s+1-1+10
L{sin3t} =— -
$* 49’
cost s+1
L{e ‘cost}= L{cost} =
L) =Lie feost)= —o (eosty =5
. 3 3
] S . S ETT T el ., S o B = 15 s \{ \/
Ly J =Lz} =e L %5}=ez LY -1 215} —¢ 2 cos(f?t)—L
52+3s+———+6 (s+—)2+— s* +— s? + — s* +— 5 +—
4 4 4 4
= t[005(,’ t)——sm(,/ t)]
—2 3
L 3= =1 - } =D 4 3e™

s +55+6 (s+2)( ) §5+2 5+




L{u, ()t*} =e“L{(t+1)*} = e L{t’ #2041 =e(5 '+21' +2)

0 t<3
leos(t=3)  t=3

L{3,(t)(arctant’ +sin 3t)} = e **(arctan4 + sin 6)

L—] 6—33 .
{ 52 +1

. 1 1 I 1 3
L{sint} =— = =i = —
s“+1 J By 3s°+9 s°+9
=) +1
3 9

Lisint} =

{ )= s” 41

S

L{cost}! =s —s1in(0) =

{ j s* 11 ©) s +1

L{f"(D} =sL{t'(H)} - 1'(0)
=s(sL{f(1)} = £(0)) - £'(0) = s"L{f (1)} —sf(0) - £'(0)
L{E"(1)} = s’L{F(1)} —s*F(0) —sf'(0) — £ "(0)



